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1 Introduction
For the Release 5 CRRM solution aditional load information signalling between neighbouring RATs has been introduced. One kind of this load information is represent by the RT Load Value IE. This IE is used in 25.413 v5.6.0 and 25.423 v5.7.0. . However the ‘information element functional definition and contents’ of the RT Load Value is in itself contradictionary. This document presents the issue and makes a proposal for a correction.

2 Discussion
In 3GPP 25.413 v5.6.0 RT Load Value IE is defined in the following way
:

9.2.1.52
RT Load Value

The RT Load Value IE indicates the ratio of the load generated by Real Time traffic relative to the measured Load Value. Real Time traffic corresponds to the Conversational and Streaming traffic classes.

	IE/Group Name
	Presence
	Range
	IE type and reference
	Semantics description

	RT Load Value
	M
	
	INTEGER (0..100)
	Value 0 shall indicate the minimum RT load, and 100 shall indicate the maximum RT load. RT Load Value should be measured on a linear scale.


If we denote with RTLoad the load generated by Real Time traffic relative to the maximum planned load  and with Load the measured load value then RT Load Value can be calculated 
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However the wording in the semantics descriptions is somewhat contradicting. It is speaking about RT load instead of RT Load Value. And also it is not clear what a maximum RT load Value should mean. For example if the admission control has a reservation of 20 percent of the total load for NRT services, it is always the case that 
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. Therefore the maximum RTLoadValue will be 80, if the Load is 100. If the Load is 90 the maximum RTLoadValue will be 
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Looking at the Semantics description alone one could conclude a different intention of the RT Load Value. It reads like a measure such the source system can figure out if the target system is likely to accept a handover/inter-system relocation request. A value of 100 would denote all the capacity allocated for RT traffic is used. Target system will very likely not accept the handover or relocation. Note that this is quiet different from the first interpretation, where a value of 100 would just say that 100% of the measured Load Value is due to RT traffic. This information would provide only little information on the likely hood that the target system will accept a handover or relocation.

3 Possibilities for Corrections

Alcatel sees two alternatives for a correction. The first aligns the ‘Semantics Description’ with general definition text the other one aligns the general definition with the ‘Semantics Description’. The first seems to be inline with decisions taken at the joint ‘RAN-WG3/Geran meeting on RRM’ [1]. 

3.1 Alternative 1 (aligned with decision taken RAN-WG3/GERAN meeting on RRM [1])

9.2.1.52
RT Load Value

The RT Load Value IE indicates the ratio of the load generated by Real Time traffic relative to the measured Load Value. Real Time traffic corresponds to the Conversational and Streaming traffic classes.

	IE/Group Name
	Presence
	Range
	IE type and reference
	Semantics description

	RT Load Value
	M
	
	INTEGER (0..100)
	Value 0 shall indicate a ration of 0 percent, and 100 shall indicate a ratio of 100 percent.. 


3.2 Alternative 2 (analogous to NRT Load Value):

3.2.1.1 9.2.1.52
RT Load Value

The RT Load Value IE indicates the load on the cell generated by Real Time traffic relative to the maximum accepted load for Real Time traffic.. Real Time traffic corresponds to the Conversational and Streaming traffic classes.

	IE/Group Name
	Presence
	Range
	IE type and reference
	Semantics description

	RT Load Value
	M
	
	INTEGER (0..100)
	Value 0 shall indicate the minimum RT load, and 100 shall indicate the maximum RT load. RT Load Value should be measured on a linear scale.


4 Conclusion and Proposal

It has been shown that the current ‘information element functional and contents’ of the RT Load Value is in itself contradictionary in RANAP and RNSAP.

Alcatel sees to possibilities for corrections to remove the contradiction. One is according to Alcatels interpretation of the minutes [1] inline with agreements made with GERAN. The other is providing more information to the source systems of handovers on the likelyhood that a handover/inter-system relocation request will be accepted by the target system.
Under the assumptions that the interpretation of the minutes is correct, Alcatel proposes to make a correction as outlined in alternative 1 to be inline with agreements made previously.

Alcatel asks the group to check the interpretation of the minutes.

Alcatel also asks the group to discuss and to approve the companion CRs [2] [3]. 

Alcatel is also willing to provide alternative CRs, if the group decides for alternative 2.
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� The same text is also found in 25.423 v5.7.0





R3-0xxxxxxx_HSDSCH_Info_usage.doc
Page 3 of 3

_1129553271.unknown

_1130140670.unknown

_1129553084.unknown

